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@9,0.3,0.01 @ 9,3,1 ® 9,0.3,0.1
@ 0.9,0.3,0.1 ® 0.9,0.03,0.01

9.31=9+0.3+0.01
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@® 6.540,6.543 @ 6.541,6.544 ® 6.542,6.545

@)6.543,6.505 ® 6.544,6.546
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=AA [ ] = 6544+ 0.001 = 6.545




[ ]-2414-2424-] ]

® 2.412,2.426 @ 2.314,2.524 @2.404, 2.434

@ 2.304,2.534 ® 2.41,2.43

B

2.424 — 2.414 = 0.01°]t}.

wtzhA] 0,014 ol Al7]1E ot
AR [ |=2414-0.01 = 2.404
SRR [ [=242440.01 = 2.434




15. 4191 24e) 547} 3, 9] Ael $47} 5, 25 A A2 2471 2
4 B AR $A7 0, 25 AR Ae] 27475 9 £F 2AS,

Ch "
H =

[ 2
[> =l 35.295

30+ 5+ 0.2+ 0.09 + 0.005 = 35.295




16.

\:I(ﬂ_oﬂ ofgke A2 IO Q.
2030m = |km
> E:

> &= 203

1km = 1000m, 1 m = 0.001 km
2030 m = 2.03 km




el B2 5 AUz HE oA L,

0 0.1 0203 0.4 0506070.80.9

1

03+ =[]

it

iy

0.5

v VvV v Vv
0x
i

0
o

0.8

0.3+0.5=0.8




@mor@o2 @ Mor@12 @ 1)1(2)02
@ (1)1(2) 0.7 ® (1)1(2)1.2

(1) 0.9-02=0.7
(2) 0.8 0.6 = 0.2




@ (1)0.2 (2) 1.1
® (1) 1.3 (2) 1.1

® (1) 0.2 (2) 1.2

(1) 0.5+08=13

(2) 0.7-04=03




20.

(1) L orxixixexy b
00102030405060708091

08-04=] |

o [T X xxixixxx]
00102030405060708091

1-07=[_]

@mo4203 @ 10a@ 1T @ (1)12(2)03
@ (1)12(2)05 G (1)12(2) 17

(1)0.8-04=0.4
(2)1-07=0.3




21.

=l

0.6L

-

ul

0.6(L)




22,

"t o] oo 0.6 2 ¢

shgU ek WA o)z nh §

8 oA

™
1_ =

L

Al
™

o 0.2L 9

O 0= =

TIT=

3 1,917 T3 L

—0.6+0.2=08(L)

(bl wHAl $-5-9] o)+ (Aol wHAl 95




23.

M%dﬂiiEO6@Lh4407@E
B%= dnelz] FLSHA]

FIF

Ch "

H - kg

> —_—
> HE ! 13kg

ey, et Ajre] 2

o} A} 2A 9]

31 0.6+ 0.7 = 1.3(kg)




Hl Zho]] ke 5 HE SAYE AR Yo,

0. 31 — 0, 01 0] 31
+ 0.52—0,01°[@ |

(@] —o0.01°][® ]

iy

it

v Vv Vv.v. v Y
0
iy

0.83
M 52
e 83

0. 31 — 0, 019 31
+ 0.52—0. 01 °|[52]

0.83]— 0. 01 ][ 83




25.

iy

>
> &8

0.36

[ ]=019+017
=0.36




26. [ ool I 45 WM SAE A2 RN,

0 27 — 0.019][ @ |

+ 0,79 — 0.010°] 79

— 0. 01 °][ @ |

o

it

v VvV Vv v v Y
0
m

1.06
e o7
e 106

0. 27 — 0, 01 o][ 27|
+ 0.79—0, 010 79

1. 06/ — 0, 01 ©][106




27. B/EED[ ok dHe HE WS SAYE

0.47 <= 0.019] 47
- 0.23 <= 0,010] 23
0.24 <2 0,010] 24

0.47 <2 0.010] 47
— 0.32 <5 0.019]
[ @ | <= 0.019]

iy

i

0
it

32

v Vv VvV v v Y
0
i

0
i

15

0.47 <3 0,010] 47
— 0.32 <2 0.019]
0.15/<= 0.010] [ 15




28. thE 3 VY 2 40k A AL S8 Bk F 49 A8 PoAL,

0.51, 0.47, 04, 0.39

>
> = 012

717 & 4= 05101 71 22 == 0.39 0|}
0.51 —0.39 = 0.12
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(1) 5.789 4 2.981 =
(2) 3.892 + 5.002 =

@ (1) 8.769 (2) 8.884 @ (1) 8.769 (2) 8.894
@ (1) 8.77 (2) 8.884 @) (1) 8.77 (2) 8.804
® (1) 8.771 (2) 8.894

(1) 5.789 + 2.981 = 8.77
(2) 3.892 + 5.002 = 8.894




32.

[ Joroll dgre 5 Atz A2 Ag T2A Q.

15.333 — 10.666 — 2.888

=[ ]-2888=[ ]
@ 5.667, 2.779 @ 5.667, 2.778 (3)4.667, 1.779
@ 4.667, 1.778 ® 4.677, 1.779

15.333 — 10.666 — 2.888 = 4.667 — 2.888 = 1.779
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@(1) 7.79 (2) 12.542

(1) 4.9 + 2.89 = 7.79
(2) 9.45 + 3.092 = 12.542
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(1) 548 +27.9 (2) 12-1.281

@ (1) 33.37 (2) 10.729 (@)(1) 33.38 (2) 10.719
@ (1) 33.27 (2) 10.729 @ (1) 33.28 (2) 10.719

® (1) 34.38 (2) 10.729

(1) 5.48 4+ 27.9 = 33.38
(2) 12 - 1.281 = 10.719
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